

1) Resolva as expressões numéricas preenchendo as lacunas.

A) $6 + 3 \times [(5 \times 3 - 16 : 2) + (4 : 1 + 4 \times 5)] =$

$$\begin{array}{c} \square + \square \times [(\square - \square) + (\square + \square)] = \\ \square + \square \times [\square + \square] = \\ \square + \square \times \square = \\ \square + \square = \square \end{array}$$

B) $[9 \times (3 + 1) - 21 : (1 + 6)] - [2 \times (2 + 7) - 15 : (6 + 9)] =$

$$\begin{array}{c} [\square \times \square - \square : \square] - [\square \times \square - \square : \square] = \\ [\square - \square] - [\square - \square] = \\ \square - \square = \square \end{array}$$

C) $10 + [2 \times (5 + 8) - 20 : (1 + 4)] : [(4 \times 3 - 12 : 3) : 4] =$

$$\begin{array}{c} \square + [\square \times \square - \square : \square] : [(\square - \square) : \square] = \\ \square + [\square - \square] : [\square : \square] = \\ \square + \square : \square = \\ \square + \square = \square \end{array}$$